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But there's a better presentation .
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In general Dian , let
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What's going on:

Krasner kaloujine Theorem ;
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Goal to make useofthisthmtogiue
cool descriptions of favorite groups .

Digress : Ay = Inn(Ql4,Ñ
( 123)

,
(1341,1243%1142) =Q(4,1 )

¥ " " "

2 I 3

I

1 1 34 2

4

"""

¥;÷;F-
=

There is a 2- foldextension
of 43 I 24

acyl) :known as 0118,0.
Vendramin 's

Inn (Q(4,10
Inn /Q18,10=1-5, the binary tetrahedral =Ay
group . HM?⃝

~ o

Ay Ay 0

2 0

* Go

c 0118,1 ) Q(4,11
2



But B4 that we had to determine

Inn (Q18,0 . It is generated by
these permutations
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5013 ) is group of rots of 3-D space .
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In terms of the

Krasner kaloujine Theorem :



N is a subgroup .cosets correspond
as indicated
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One more repr. of Ñy that uses the
ordered subgroup: A = {a>

= (1)a ,a? -1,-a, -E)
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WIP : Rewrite in terms of
quaternions .
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binary Icosahedral group
binary order
tetrahedral group 120

Order 24

So have a 5 string picture for Ñj
with

"beads"



That's
my story, and

I'm sticking to it !

Thank you
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